B 2-1 5 ik 2« 7 ~AMICBIL CRR AJHA A% WIaid, Bl 2- 15t ic s,

A CEAZE 1T 2 HAR o) A Clefases 15 3 i
RIS 5 40 E;‘X:;T;M g 3 — F i Tﬁ”ﬁ‘ E?/\x E;T;”‘ Hifir - 3 — F ﬂﬁ?}jﬁ”#h TA CEMIETURIA) it 3 — F
€43 R N e
iR () (Ep ) K AR (ICD10 = — 1) E (L) 70w
7 (ICD10) 1 B0 Hn 2
— —_—— I —_—— it 0 2
|wien e Grzo) g |7 iz e ) (b L)
(Mji“ 75 A0 R wee—n T
4 sk 12 : THERAIK ——————— il (LR (ki)
XA XAy 2 — (ICD-0-3) (JERea—F)
DLT O RMNICO% D 1 7253 SEPUE{ILT E_ P2 AL T2 (REAREBERZEME T2) . C¥) BUE 15K I 0EEES
i) @R%&;ﬁ]ﬁ L P &5 (GRS 2 o W S &5 (GRS Co B YT E GRIEROLEE © FilEEm 14t
1 |rss W LRI A I W0 A T |minwriesy
PR 27 e LR = 31 SLEHI I O = 41 MR 2 — F =
5 |ewinrin W A AR T 32 S T RO 1 I = 46 B R 2 — F -
7 ;mw TR = 6 LR N - 33 P O - 51 BULA AR R 2 — © -
12 Joue 21 Z:EC) TCCCs = =T UNIaR = 34 1’1’5) ié‘.‘@ ENEE ] 56 ORI T =2 — § -
13 JetE=—r acp-0-3) 22 [CCC (364) - 35 R o 4 1 = 61 SRR 2 — F =
1 fewin Gs) WS A AR 36 Lk ot i = [ sy
15 |w=—r acp-0-3) 2 T o] = 37 SRR O A1 = 42 DA 2 — ¢ =
16 [k=—F (CD-0-3) 3 50 AT - 38 Z OB HIE = 47 B 2 — ¢ -
17 |aes acp-0-3) WP I W A B 52 BULA AR ESE = — © -
18 [azws (g 66 B 5y = 71 R = 57 T AR A = — ¥ -
19 [icD-10 2— F 67 SEC /A AT F ORI = 72 BHERII = 62 SRR = — -
20 JICD-10 (f04) 68 LR (HD - 39 WLkt — F = | L Jpxeziis
23 |ewrimin 74 PRI X S - 40 i - 43 R -
Y Wt R A 44 |z smpe=— v = 48 BT -
69 |pcris 64 5L (ICD-10) = 45 R = — F = 53 B e -
70 [pco xs 65 AL (F14%) = 49 B T — F = 58 P e -
73 |sarnigis 76 WA 50 B A ERT R = — - 63 SRR AT -
W I A e 54 o — 1 - GERIZ T © 5520 g ] 1
25 EA A = 55 o e — F | - 8 Jmazioins s e 2 — e
26 | B - 59 SRR — F - 9 |miz v emiveen = —
W A G 60 SRR = — F - 10 |miwsm s o = - ¢
28 BRI - i - e
29 IR - Tl = 75 WG 2 — F
30 ERE - A -




